WU \_C‘YV3 it VU\jQV‘9 sl 1A LA

A

Quostion | W each CQKW\CM\AQ Suplett O the fawulg . Simpligy Yo

OVEWRY e pottiple-

a/|P=Z 1y b Kz’
P-ms X o K TR 20
2 (Pm)- X () > 1 = 3R>
e o Crmy 5 g
A X 1k
X
A N

2
[

Question 9 folve  the equatong

Q Vel
AL axte

BOaXYE) = 2(A16)

U430 =2 tl%

(OA-2% +30= Tx=32x Hl2

Ix420=42

IAT36—30=11-30

i - -

- e

¥

A4 )

2y /
. a
W

Question s

A bane Offerr Q@ Simpie 1N votL 51 p2r anhum. Tohn dQ_pOS‘ﬂY RVIIS000

the bank calconae the ntdrert thot he ol YeCedvy  Ofl  fwes  uoays,

\eav | Yeoy 9 Mooy 3
\%0 X RM1S000 \_(?6 x RMIGOOO{RMTE0 = \’%0x RW’\\GOOO*F‘V"‘H?@
RM 750 = RMTRFH = VBT 31

Nooy \_\ ‘1@0‘ 1= /'\ evest :

%Ux RIMISO00 + RMics. 2 ‘% x RIVI1TOQO 4 ‘*M‘S\*V = RIVWTC0 t RIVFRE-50 + k) 153.37

e T

R 5 4



Question .u,

M500¢ 18 dqvov\\ed Wio o bapk Ut by Pele Wun tp onual  IVNRYeSY

e OF 4% and Compounded N O yegy . Calulole e awiount he il

have Ofter  Kavee Yeays. ﬁ{—\)

Yoav | Year a3 - Yeay 3 W
By -4 y RV OO0 T RM2Q - % x mmseoot RWMacg.00
: T%Q)X RM5000 /Tchx / \60%
203 ;
S, i AN T
<lmoe L7 - ameosgo/ < pa0ns1 A Mot i)
Quation 5 :

ve the  Cimuianeous hear egughon by Wing elivmotion  wetwned .

ST ~

(11t3Yy-13=0) 3

(32-Y-3=0).2

tatay-34=0 — 0O

brt -6 =0-0Q

W-33=0
Y- 33483-= 0 423 :
3 \‘j‘ 33 1
N M L 9
\5= 3 /U7
P 5\

Yy=3 o Q@ /7/ /
A1 QY -39 =g St

bt 4(3)- 390

C1t 27-39=-0

61-12 =0 :
CATIHL-0 11 e
By -1 A
£ £

=1




/UESS\CA e 3 Nur Alwne

OSIPP\Sno2 Yy OS\PPISF 023 A

X =)
’éﬂd 04 (heptev ) 12\

\ S A
Queckon | A \‘V l~

(R 2k > 30>/ haredngp M\"Q’ES(—Q’M dovmin g 'Q“""?W{) Yyour

CoarLugy % poibie.

A P W ) leg S 2‘K.L
? i o
P-mn = x -}"V\-;W\ (’1)V-= .\.2'(1) Z‘x‘:\
o ok« Z |
axP'N\ = 2K ) / 7 : 2
,.,a 4 2:¢ -l e
oy ;(?— \(l \/ff\/ ;
K 5 V(’W _ = 2k ¥
N g £ /
B o

Q;eg’ﬁm\ 2 )

Q\ve e —Zﬁ"uq_\iQn =

T g o R
bk i
§ sy

S(axtb) = 2( wth)

(o= tgey =(4xtra)

Q0

lox 4 70 -\2 = 4ot \2-1% BN

WE~— ok 4 1§ 2t - 1\0%

),g‘: =Rt

— i

I



Gues‘ﬁ o ';3 “

A penr oHery o %‘\«\Q\e ‘“-\re/eg'\' veke ot % 7. pev &nnuw .

Town dtgo. shd RS p0p  in e beal - Calanete  Yine wlevedk

Dne) we wh|l  veceive Qftver Lve yeav - 3
fe\S 600 = S /s (_5"5““'3)
E\5 02T X _3 D
e =Sy e)
2
: S‘
NGBS : B[ATTD
4% - —N%}{‘D//%Ov 5 years. AC\V\'\’U’Q'})
/’b

e TVOO ¢ de?oﬁ.\.ed ANYO e Lank aecoen b‘j (’e&( wot Yy ﬂ’\-e

aennwe\  (xeovesk vare ok 4 .. awd compounded onlte A year.

Corta\aXe de cnmount W WAL weve abker \\,\vee Swd

Y]
=S
P = Rw SOOO ™ I00T ¥ - ’_q‘
- TM”, ;
Ee ). : pwsA T
y
- = 3 Sea"ﬁ : /5 = 5
124 SW\_‘_; \u‘v\ 5o
W o \= ¥™ L0000 % "l"' = W 900

o w08 x g

%uv.’l = PJV\‘S')OD xl.,'/. 2 eV g

loa

gyeev 3 = e S hee x ‘}“/'

-

> kmay. 32

P\ Cl3y.3 2

=i
-
/

e TLoy - 32~ Ahher 3 geevor

B

&




W

Quertion T

do\ve, e givm\¥Yaneous \tneear C,o\(

wekhod

PRI Y =TS0

C_Z)zy ’3—330

© A -3y-9-0

*ed 3gy-13 20 '3‘\(6)

Eopalion ® %=3a

(.‘) A\ixo= 3\5—%;0 €%®

""’C'i 2y - \>=D

W . 1y

>

2(2)t 3y ~\3 3= 0+1\3

vy = \3

W e = 22

— alalds A
. W = =
e X
*® = 2T 2 3 3 i
¥ /
// S 2 G
.= 9 -
4 L < o5
w = Q
\313 / /_:\




Name: laag Miagroo  MAT Vabil B MAT KoSiM
Regxsfmhon VO: 051PP13F1003 03TpPI18¥]022

Program [ Sectioa = IpP1 W
Coutsework Assessmeat: End of chagter | et
(oufse

Nome : PBM 1035 MloI/)fms,ve Mat nematics K
Nuestion |

I (
0 each ase, mate x the Subject of the formula. Siomplify your_answers if possible
P .—+m E (,b) k--a-z,la
Pm = 19 tm-m

(P m)- %x (D)

Z
&4
2Py = 2 o mnseel S5 Sl
1'—-9 ’M) 1 :'k x :Jgk
(YA
duestion & @

Solve the equations

5 ol
e s T =

Xohgia) = 5.3 1)

axr Tl = @tz
AX-10X+13-13= 10X~ 10 +30-12
’%1 = l% ,
ity - ﬁ—q— T =PkT
-8 g 4 W
QU\QSJ('IOH 3 e a|+ K /K— Prelr{)(lg;t é;;ﬂ%)
A bO(\\'\ offers o @ | t t cenfaqe
i .;np(elun e;esz‘ fafe of 57 per annum. Johg deposits
90 ieames bonk. talulate e lﬂferes{- that will Yeceive affer five year
S
: )50%/(/7{ 1/6 1d3 ToB ’ . Deposl’rs’rlnferesTg’“
' 150
o o = = [
O\!A/th— ~%am 100
- 315000
/‘4\ H?;WH-— -%g%/a 00



Question 34
RM5000 s deposited into a baak accouat by fete with +he annual interest

fate of 4% and Ompounded 0nce 0 Year. (alculate the amount he sl have
Afer thie years.

Y-
( | years )- RMS5000 X T%o = 350 RM200

(&(jomS) RMSQOO‘X%O = M08
(3 gears) RM5H08 X oo = RM 263

3gems - RM200t M08 tRMA (6.3

ZRM62%D ‘
Deposited t3years = RM 5000 + EMbH4
=AM SEaK.3 @

Question 5
SolVe the SH Simulfaneous linear equation b.J; usiag elimination method.
ar 1 3(5 - 13=0
3L -Y-320

a X t 33'!3:0
¢3)3x-Yy -3 =0

q1‘5\j"q:00 7(31#(6;‘
a§1+ 333%—__13 A% ~3Y "
- Ok - 3= -Q
|1k da
X
Ik =aa a(a) t 3y-13=0
LUK a2 h +3y-13413=13

o L;-LH33:13-LP . ;

‘ b/////f% a
3 3
s

AR}



